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TrigonometryExercise Answers for No.9594
5./34 3 34 34 5 o
34 5 eotA=5}

,tan(4) = csc(A) = ,sec(A4) = (

,cos(4) =
cos(A4) 3

G,COS(A)Z%, tan(A):@,csc(A): 6{? sec(A)—6 cot(4) = S{F}, ,P/?}

3
Ansl = {sin(A) =

Ans2 = {sin(A) =

[ 2
Ans3 ={sin(A)=xT_1, cos(A)=%, tan(4)=+/x" -1, csc(A):%, sec(4) =x, cot(A)z%ll

X —
Ansd = { sin(4) = ﬁ, cos(4) = ﬁ tan(4) = csc(A) = sec(A) = cot(4) = }

[ Ans.i=[y=cos(0),2m 1,[-1,1]]
Ans.2=[y=6sin(0),2 m, 6, [-6,6]]
T
Ans.3:[ =cos(60), —, 1,[-1,1 _ _
4 ( )3 [ ] [y =—cos(x) + 3, black]
2n =3 sin(2 —4
Ans.4={y=4cos(36),T,4,[-4,4]} Ly 3s;n( “;) red]
1 r1l-11 {}H=5COS(EJ,ann}
Anss = Ans.5 = y=—5 sm(49)zg ;g , Ans6 = 5

5
0 {y:—z sin(2 1 x), green}
Ans.6={y=—4 sin(;)—3,6n, 4,[-7, 1]} 3
[ j 2, blue}

e 2
Ans.7:{y =—4 COS(T), 10, 4, [-4, 4]}

1 21(19 21
Ans.8=|y=—cos(3nO)+5 | —
L 4 34474
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TrigonometryExercise Answers for No.9608

Ans]={sin(A)— ! cos(A)—8 tan(4) = 7,csc(A)= 2V 17 sec(A)—9 cot(4) = 8{?}, ,{C}
{ 3 4 3 5 5 4} [ﬁ}
Ans2 = s1n(A)— cos(A)—— tan(A)— csc(A)— ,sec(4d) =", cot(A)—3 N —(
_. 2 ’\/x2—4 2 X X x2—4_
Ans3=_sm(A)=x,cos(A)= B ,tan(A4) = x2_4,csc(A)=2,sec(A)=m,cot(A)= 2
_, 9—x A9 —x 3 3 x|
Ans4 = _sm(A) = 3 ,cos(A4) = tan(A) = M csc(A4) = m, sec(A4) = K cot(4) = p _
_ J _
[ Ans.i=[y=cos(0),2m 1,[-1,1]] | (
Ans.2=[y=-2sin(0),2 m, 2, [-2,2]] )
Ans.3=[y=sin(20),m, 1,[-1,1]] [y=-2 sin(2 nx), blue] (
Ans.4=[y=6co0s(20),m, 6,[-6,6]] 1 )
0 y=T7sin |+ 2, black -
Ans.5 = [y =5 cos(gj, 127,5,[-5,5] R (
AnsS5 = 1 2n 1[-9 -77]f Ans6 = [y=3sin[£j,green} , 2
Ans.6:[y=——sin(36)— : ,[—,—H 3 (
4 37414 4 [y=cos(x)—3,red] 2)
1 I 1]-11
Ans.7:{y:—4 sin(6m0), 5 Z {Z,ZH _{yz—%cos(%)—% cyanl )(
sl ) } |
Ans.8=|y=—-6cos| —//— |+5,6,6,[-1,11]
L 3 J :)
Lo
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TrigonometryExercise Answers for No.9646

X

[Page

Ans]={sin(A)— ;3 cos(A)—6 tan(A)—ﬂ/éi3 csc(A)—713 sec(A)—7 cot(A)—6f}, ,{C}

3455 8 8«/5 ﬁ} {ﬁ}

55 ,csc(A4) = sec(A) =" 45 ,cot(4d) = 3 (
Ans3 = { sin(4) = m cos(4) = m tan(4) = csc(A) = sec( )= cot(4) = }
X+ X+

AnsZ_{sm(A)—3 cos(4)= s,tan(A):

1 X 1 A1 +x
Ans4d =| sin(A) ==, cos(4) ==, tan(4) =", csc(4) =4/ 1 +x2, sec(4d)=—"",cot(A4) :x]
l: f\/l+x2 «/1+x2 X X
[ Ansd=[y=sin(0),2m 1,[-1,1]] ] )]
Ans.2=[y=4cos(0),2m 4,[-4,4]] N
T - - 2)
Ans.3=|y= 40),—1,[-1,1 -
" [y cos( )2 [ ]} [yz—icos(2nx)+4,green} (
. T Y,
Ans 4= y=-2 40),—,2,[-2,2 Z
ns [y sin( ),2, ,[-2, ]} {yzésin(an),cyan} o
s [ ! 6931{_11}} ’ 2
Anss =) AnsI=|y={sin(O0) 5 | hy ] ) Ans6= [y:%cos(ﬂ—a black} 1Y
Ans.6:[y:—6cos(gj+3, 10 7, 6,[-3,9]} [ [xj } 2
5 y=-3cos 3 , red o
1 .
Ans.7=[y:—5 cos(67:9),5, 5,[-5,5]} L [y=-sin(x) - 3, blue] l(
[ I _(ne] 1[17 19“ )
Ans.8 =| y=—"sin| — |+ 3, 10, -
L 6 5 6L6° 6 L o
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TrigonometryExercise Answers for No.9649
3473 8 |73 73 3 o
3 ,cot(A)=§ N

,tan(4) = g, csc(A)="",sec(4) =

Ansl = {sin(A) = 5 ,cos(A4) =

73 73 8 o
Ans2 = {sin(A) = > f, cos(4) = 2 f, tan(A4) :g, csc(A4) = J?, sec(4) = @, cot(4) = %}, , {L()}

_ 25— al JL%éjlzi_
X

5 5
Ans3 =| sin(A4) = cos(A) = Ltan(4)=—F7———=,csc(4)=",sec(4d) =", cot(4) =
S A25 % X A25 %

I , 5 A Xt =25 5 x x «/xz—zsz

Ans4d =| sin(A)=",cos8(A)=—",tan(4) =7, csc(4) =", sec(4) = ,cot(d)=—"—
i X x A Xt =25 5 A X =25 5]

)

i Ans.1=[y=sin(0),2m, 1, [-1,1]] ] o
Ans.2=[y=4cos(0),2m, 4,[-4,4]] - -1 2
Ans.3=[y=sin(20),w, 1,[-1,1]] [y——2 cos( j black} (
Ans.d =[y=—6sin(20), m, 6, [-6, 6]] 2 )

1 1 l X .

Ans.5 = [y——s cos(40), 7 ¢ [— —} {y:‘z COS( 5 j*“’ b’”e} (
AnsS = 0 , Ans6 = [y =sin(x), cyan] , 2
Ans.6={y:23in(—)+5,8n, 2,[3,7]} [ 5 [xj } o

4 y=7=cos| 7|, green 2)

0 2 2 .
Ans.7:{y=—5cos(—j, 12,5,[-5,5]} [ 3 (x] } o

6 y=Tsin| — |-4,red 2)

1 1 [24 26 L 2 \3 Y

Ans.8 = y=—gcos(2n9)+5,1,g, ?,? ')
o
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TrigonometryExercise Answers for No.9669
5 4465 9 94/ 65 A 65 «/ 9
,tan(A4) = ,csc(A)=",sec(A4d)= ,cot(4)=
65 4 65 4 o

Lo B e ] [£]

,csc(A) = Z’ sec(4) = ,cot(A4) = (

N

Ansl = {sm(A) = 4 ,cos(A4) =

Ans2 = {sin(A) = g, cos(A4) = tan(A) =

[ 2 /
Ans3 = mn(A)zm cos(A)=m tan(A)— ,csc(4) = x;16,sec(A)— cot(A)—x
[ 2 /
Ansd = sm(A):ﬁ cos(A):ﬁ tan(A)zi, csc(A)z%m, sec(Ad)=—"""— cot(A)—x
x +16 x +16 i

1
I

mo
Ans.8 :{y: -6 COS(T) +4,6,6,[-2, 10]}

Ans. 1 =[y=sin(0),2w, 1,[-1,1]] l
Ans.2=[y=4cos(0),2m 4,[-4,4]] ’.(
Ans.3=[y=cos(20),m, 1,[-1, 1]] ) 2

{ - } [y=-3cos(2mx)—2,cyan] N
Ansd=|y=-2cos(40),=,2,[-2,2 :
ns y cos( ),2, ,[-2,2] [y—scos(n jblack} 2
r=sf3) | o ]
Ans.5=|y=3sin —|,12m, 3,[-3,3 .
Ans5 = " y= o 6/) ™. 3. 13, 3] , Ans6 = [y=—§c08(£j+3,green} , 2
1 2n 135 2 \2 3

Ans.6 = y=— sin(36)+2, TE’ 5’5 [y:—sm(x); 1, blue] _)(
o 21[01 sl S)rea] ||

Ans.7 = y——6sm(5n9) e 6’6“ L 2 2
(

2

o
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TrigonometryExercise Answers for No.9717

o

& gj?, cos(4) = ! gf?, tan(A4) :3, csc(A4) = «/275, sec(4) :@, cot(4) = 7} {L

{ 3 4 3 5 5 4} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 ,

Ans2 = {sin(A) =

T

Ans3—{sin(A)—x cos(A)=4/1 —x tan(A)—L csc(A)—l sec(A)—; cot(4) = ]
i U U e _m’ )

2 2

A/ X X
Ans4 :{sin(A) =———_ ,co8(4)= tan(A) =——,csc(4)= sec(A) —— cot(A)
7 X A/ 49 /49 }

| Ans.l=[y=cos(0),2m 1,[-1,1]]
Ans.2=[y=~4sin(0),2 1,4, [-4, 4]]
T — -
Ans.3:[ =sin(6 0 3 LI 1
4 (69) : ] [yzgcos@nx),red}

Ans.4 = {y 2 cos(5 6) — 2 [y =sin(x), cyan]

} 3 X
0 3 [(x
AnsS5 = Ans.5={y=—2 sin(4j 8m, 2,[-2, 2]} , Ans6 = [y 2c05(3)+3,green} i

1 LY A [ 2 sin(2 2, bl }
Ans.6 = {y—zs1n(56)+2——[2 ZH y——2sm( nx)—2, blue

1 (me) _1[- [—2 (ilblk}
Ans.7:[y=—zcos(—), 12,2,[1,2“ L y=Tecos 3) ac i

6

Ans.8 = [y——3sm(4n9)+4 ,3, [ 1, 7]}
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TrigonometryExercise Answers for No.9763
5./41 4 41 J41 5 o
41 5 ot A=gp

,tan(4) = csc(A) = ,sec(A4) = (

,cos(4) =
cos(A4) 4

6411 6 5411 :
fsec(A)— ,cot(4) = f}, ,P/?}

4
Ansl = {sin(A) =

Ans2 = {sin(A) = ,cos(A4) = %’ tan(4) = ,cs¢(A) =

2 2

. X X X S > al
Ans3={sm(A)= 5 ,cos(A)=5,tan(A)= x ,cesc(A) = 25_xz,sec(A)zx,cot(zél)= ,—25_)(2}

Ansd {'(A) 2 cos(4) [-4 (4) ==, osc(A) =, s00(A) =~ cot(4) xz_ﬂ
ns4 =| Sin =", COS = . lan = —, CSC , S€C 5. CO =
x’ x b x2_4 x2_47 2

Ans. 1 =[y=cos(0),2m, 1,[-1,1]] l

Ans.2=[y=4sin(0),2 7,4, [-4,4]] )(

Ans.3:[y:cos(46),§,1,[-1,1]} [ [y=—cos(x) +2, black] | .-_(

Ans.d=[y=-3cos(20),7,3,[-3,3]] [y:écos(ﬂ}—&cyan} 2

1 2 1[-11 2 \3 :(

s Ans.5 = y—— sin(50), TE 5,5 | Ans6— [y=—21s1n(27tx) red | 9 l(

Ans.éz[yz—z cos(gj+ 1,6m2, [-1,3]} [y_z (2) blue} Pl

1 X .

) 1 1111 {y:—— COS(_]—4, green} (

Ans.7—[y——4sm(6n6) ya [4,4H i 2 3 | 2

0 :(

Ans.8:[y:—4 cos(7j+2, 12,4, [-2,6]} _)
L - L ( i
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TrigonometryExercise Answers for No.9877

Ansl = sin(A)=5;/§79,cos(A)=8§,tan(A)=§, csc(A)=@, sec(4) = 89,cot(A)=§}, ,{L()
Ans2 =| sin(4) = > f, cos(4) = 2 f, tan(A) :g, csc(A4) = J?, sec(A) :@, cot(A) Zgl > {L()
O D N SN £ N SN TN S
ns —_sm( )= 5 , cos( )—2,tan( )= x , esc( )—m,sec( )—x,cot( )= |

A/ + )C2 X X 3
5 oosd)= m, sec(4) =7 cot(4) = —'—2}

|
w |\
‘T‘
=
)

Ans4 = { sin(A4) = ,c08(A) = %, tan(A4) =

-9 +x

[ AnsI=[y=sin(0),2m1,[-1,1]] ] )
Ans.2 =[y=-3cos(0),2m 3,[-3,3]] A
) 27 2)
Ans.3=|y=sin(50),—, 1,[-1,1] - .
5 [y=sin(x)+ 3, cyan ] o
Ans4—[ ——2cos(56)2—n2 [22]} [ L (ij bl k} 2
A=Y= C g0 > y__zsln 2 ) ac (
1 2w 1 (-11 = )
Anss = Ans.5 = |:y = Sil’l(s e)a _TE’ s ':_a _:|:| , Ans6 = [y 2 COS(2 TCX), blue] ) l
6 5°6L676 x :(
0 y=-2cos Py + 4, red ‘
Ans.6=[y=5cos(;j+4,6n, 5,[-1,9]} 1 X =
[y:—— sin(—J—L green} o
70 i 2 3 i Y,
Ans.7 = y:_6 COoS 7 343 67[-696] _(
, 2 1(-11-9 )
Ans.8 = y:—_Sln(3TCe)_2;_;_7 T o o

L 5 33505 511 Lo
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TrigonometryExercise Answers for No.9911
24/6 746 7 sﬁ} [ﬁ}
5 > b

,csc(A) = sec(A)— cot(4) = (

6 5
A)=_,tan(4) =
L cos(4) =, tan(4) > >

Sg;j csc(A)—9 sec(4) = 9«2/8174’(30‘[(14):@}’ ,[L()}

Ans3 =| sin(4) ==, cos(4d) =7, tan(4) = z K csc(A)=—"F"—",sec(d)=—"",cot(4) = =
A 49 + X7 «/ 49 + x* 7
/ / 2
Ansd = { sin(4) = %, cos(4) = %, tan(4) = %, csc(A4) = ﬁ, sec(4) = %, cot(4) = ﬁ}

2
Ansl = [ sin(4) =

[ 5 2414
Ans2 =| sin(A4) = cos(A) = ,tan(A4) =

[ Ans.d=[y=cos(0),2m 1,[-1,1]] )
Ans.2=[y=-5sin(0),2 x, 5,[-5,5]] N
y 3[ (39)27[1[11]} [ 1 2
ns.3=|y=cos , o L [-1, o
y {y——3 sm( j black} o
Ans4:{y——5 cos(6e) =5, 5,5]} { 1 (x] } 2
y=_sin| _|—4, cyan o
P [ ! 39241[11}} 2 Pl
Ans5 = ns.5 2cos( ) 3°2| 29 , Ans6 = {y:—gsin(%j,red} A
Ans.6:[y=—6sm(zj—l,8n, 6,[-7,5]} [y =—cos(x) — 2, green | _)(
Ans 7—[ ——1008(2759) 1 l[i lﬂ y=3 cos % +3,blue} l
S R U 5Ls0s ] S
e %) } "
Ans.8 =| y=-2 cos ? -4,12,2,[-6,-2] _(

[REEXCSRESRC) 1D:0:9:9:9.9.9.:9:9:9.9:9:9:9:9:9:9:9.9.9.9.9.9.9.0.0.0.0.0.0.0.0.0.0.0.9.0.0.0.0.0:0:0.0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.0.0.0.9.9.0.:0.0.0.:0.0.0.0:0:0.0.0.9.0:0.0.0:0:0.0.0.0.0.0.4
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TrigonometryExercise Answers for No.10027

4 3 4 5 5 3
Ansl = {sm(A)— cos(A)— tan(A)— csc(A)— ,sec(A)=T cot(A)——} ,[ (

Ans2 =| sin(4) = 7 111313 ,co8(A4) = i 111313 tan(A4) = ! csc(A) = sec(A) = cot(A) = 8} {L
i [ 2 [

Ans3 =| sin(A4) = 2, cos(A4) = x——25, tan(4) = S ,csc(4) = sec(A) ;, cot(4) = x 2
L X X 4/x2—25 A X =25 i

A —49 + x*
7

,cos(A4) :%, tan(4) = ,csc(A4)

X X
=—f————,sec(4d)=",cot(4) = }
Al —49 + x° 7 A 49 + ¥

Ansd = { sin(4) =

Ans. I =[y=sin(0),2w, 1,[-1, 1]]
Ans.2 =[y=-5cos(0),2m 5,[-5,5]]
3

AnsS =

[Page 0010]

X

] 27
Ans.3 :[yz sin(30), T, 1,[-1,1]
Ans.4 =
0
Ans.5 :[y: 3 cos(;), 41, 3,[-3, 3]}

[y=-5sin(20),m,5,[-5,5]]

1 27w 1|79
Ans.6=[ —sin(50)+2,—, [— —ﬂ
4 574144 [y =cos(x) -3, blue]
A7_[_1.4611[_11H [ 1( }
ns./ =(y= 5511'1( T ),2 5 55 I y:?_Sln 3 , cyan |

0
Ans.8 :[y =-3 COS(?) +5,12,3,[2, 8]}

[,-2
B

, Ans6 =

—— sin

cos( 2Xx), black}

() o]

[y:—z cos(2 mx) +4, red} ’

'«Iu&lu'«lu'«lu'«lt'«lv«lt
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TrigonometryExercise Answers for No.10063

X [Page =

Ansl = {sm(A) = 2 ,cos(A4) = ,tan(A4) = 2911

csc(A)—6 sec(A)—6 cot(A)—ﬁ} {ﬁ}
,csc(A4) =

1 11 5
2 15 5 cotA) = 15} [ }

345 7ﬁ 24/5
ﬁ

7
,sec(A4) =

f\/x2+25
X

3 2
Ans2 = [ sin(4) = ,c08(A) = ;, tan(A4) =

,sec(4) =

,cot(4) = B }

4 X A/ —16 + X’ }
s t A = A = A , t A =
an( ) m CSC( ) sec( ) m CcO ( ) 4

Ans.1=[y=sin(0),2 7 1,[-1, 1]] I
Ans.2=[y=-3cos(0),2m, 3,[-3,3]]

X 5 X
Ans3 =| sin(4) ==, cos(4d) =", tan(4) =, csc(4) =
{ A X+ 25 A X +25 3

, 4 ~16 + x*
Ans4 =| sin(4)="—",cos(4) =
X

AnSS—[y—sm(Se) R RERS

| :
ol | el o

Ans.4 = [y 2cos(40),

AnsS =

0011]

Ans.7 = [

1
Ans.5={y= —g sin(3 0),

r,
* 2’
2n 1
375
2 1

1
y——Scos(3n6) gg

[; gl

|

0
Ans.é:[y: 5 cos(gj +2,12 7,5, [-3, 7]}

|

(mO
An58=[y=—251n(Tj—3 10,2,[-5 -1]}

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢

, Ans6 =

{y:—— cos

[y=

=

5

—sin

X
(—j +4, black}
3

—cos(x) — 3, red]

TX
— |+ 2, blue
3

N N A O N N N
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TrigonometryExercise Answers for No.10120
7433 «/33} {«/7}
33 b 2

,cot(4)= 1 "

4 3 44/33 7
Ansl =| sin(A4) = cos(A) = ,tan(A4) = ?, csc(A4) = Z’ sec(4) =

3 4 3 5 5 4] o
Ans2 =| sin(4) = cos(A) =" tan(A) = csc(A) =3 ,sec(A4) = cot(A) = , —(
_ A25 X x 4/25—)62 5 5
Ans3 =|sin(A)=—""""—"—,cos(4A)=",tan(4d)=—""",¢csc(4d) =", sec(4) =", cot(4) =
L S S X 25 —x° X 25-x"
, A 49 - x* 49 — x* 7 7
Ansd =| sin(A)=—""-—"",cos(4) = tan(A )=—",cs¢c(d)=—F———=,sec(4d)=",cot(4) =
I 7 X 49 — * X 49 —x* |

Ans. 1 =[y=sin(0),2m, 1,[-1,1]]
Ans.2 =[y=—-4cos(0),2m 4,[-4,4]]

2n - -
Ans.3 :{yz sin(3 0), T, I,[-1,1] [y=-3cos(2mx),cyan]

Ans.4=[y=-5cos(20),x,5,[-5,5]] [y =sin(x) + 2, blue]

)

(

i

(

)

1 TX .

Ans.5 = [y——l sin(4 0), =+ [i,lﬂ =7 Sm[ 3 j”’md} )(
AnsS = e
(

i

(

)

(

Dl

2’31373 . Ans6 = . ’
e = - | —
Ans.6 = [y =3 sin(;j —4,4m,3,[-7,-1 ]} [y 2 COS( 3j 3, black}

1
1 n 0o 1]-11 =—si
Ans.7=|:y:—_sin(_], 1O’g’|:_ _:|:| i [y 2Sln(2X)agr€€7’l:| |

6 5 6’6

2

1
Ans.8:[y:—2 sin(4n6)—3,—,2,[-5,-1]} ;
L i v
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TrigonometryExercise Answers for No.10367
34/34 5 \34 34 3 o
s 3 ,cot(A)=g N

4 ,tan(A4) = csc(A) = ,sec(A4) = o

246 sﬁ 7 7.6 2«/?}9 [«/7}

Ans2 = [ sin(4) = 2 cos(A) =" tan(4) = T, csc(A4) = g, sec(4) = T, cot(4) = s (

[ [ 2 [ 2
Ans3 =| sin(A4) = %25, cos(4) = %, tan(4) = %25, csc(A4) = ﬁ sec(A4) = cot(A) ﬁ
Ans4 = sm(A) m cos(4) = m tan(A4) = csc(A) == ,sec(4d)= ,cot(A4) = %_

) 54/34
Ansl =| sin(A4) = ,cos(A4) =

1 21179
Ans.8 = y—— sin(3w0)+2, .| =,
3444

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKKKXXXXXX KKK KKK LKL LKL KL LK XXX XXX KKKKX

| Ans.I=[y=cos(0),2m 1,[-1,1]] 2)
Ans.2=[y=-3sin(0),2 m, 3, [-3,3]] N
2 _ .
Ans.3 :[y:cos(:% 0), Tn 1[-1, 1]} [y = —sin(x) + 2, red] l(
3 X ’
Ans.4={y:—2 sin(3 0), 2771 2.1-2. 2]} [y:_i COS(?J 4 blue} 2
9 -t =) 2] ||
Ans5 = Ans.5:{y:2sin(;j,6n,2,[-2,2]} Cdns6=|0 "2 o )T oY) l(
3 '.
PPN O TR ST | I | E S
0 [ —i 2 } (
Ans.7=[y=—3cos(T], 10,3,[-3,3]} | [ Y=y eos(2 ). green || l(
:)
o
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TrigonometryExercise Answers for No.10372
9,/65 «/65} {«/7}
65 b 2

,cot(4)= 1 "

> E, cos(4) = 2 E, tan(A4) :%, csc(A4) = J?, sec(4) = «/2173, cot(A) :gl , {L()}

A 49 — X Al 49 — X
X

- X
,cos(A4) = 7, tan(4) =

) 4 65 44/ 65 9
Ansl =| sin(A4) = 5, cos(4) = ,tan(A4) = 7, csc(A4) = Z’ sec(4) =

Ans2 = {sin(A) =

7 7 X
,cs¢(A)="—"F———=,sec(4d)=",cot(4) = —}
A 49— x x A 49 -5
X 1 1 1 -x°
Ansd = { sin(d)=x,cos(4)=4/1- X, tan(4) =—F7——=,csc(4d)=",sec(4d) =" cot(4) = —]
1= X 1= X

Ans3 = { sin(4) =

Ans. 1 =[y=sin(0),2m, 1,[-1,1]]
Ans.2=[y=2cos(0),2 =, 2,[-2,2]]

Ans.3=[y=sin(20),n, 1,[-1,1]] [ 5 x ]

2 y=T_sin| |- 2, black
Ans.4=[y=—2sin(5 0), 5 2.[-2.2] 21 3

1 ox 10-11 [y:—gcos(an),cyan}
Ans.5=|y==sin(30),—/— =, | ==
Ans5 = 2 372122

, Ans6 = [ mx ,
y =2 sin T + 3, green

Ans.6:{y: —6 cos(gj -4,10m, 6, [-10, 2]}
5 5 X
el 3 e

1  (n6 1]-11 Y=, 008 5
Ans.7=|y=—sin|—|,6,=,| —, —
4 3 414 4 [y=—cos(x)+ 1, blue]

2
Ans.8={y=—3 cos(5mH)— 3,g, 3, [-6, 0]}

N AN N e N L
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TrigonometryExercise Answers for No.10375
\/39 } V)
I

34/89 5489 3 /89 fso _é} {ﬂ}
89 89 8 5 oot =gl

,cos(A4) = ,tan(A) :g, csc(A4) = ,sec(A4) = (

) 5 9 5439 8 84/39
Ansl =| sin(A4) = g, cos(4) = ,tan(A4) = ?, csc(A4) = g, sec(4) = ,cot(4)=

Ans2 = {sin(A) =

A 16 — X A 16 — X
4 X

Ans3 = { sin(A4) = ,cos(A4) = i, tan(A4) =

4 4 X
,csc(A)=—"F7——=,sec(4)=",cot(4) =—}
A16-x x 16 -5

] -4 2 X' -4 X X 2
Ansd =| sin(A)=—"—""—,cos(4d)=",tan(4d) ==, ¢csc(4d) =—F—,sec(4) =", cot(4) =—F7——
X X 2 X —4 - X —4
_ A _

Ans.l =[y=cos(0),2m, 1,[-1,1]] (
Ans.2 =[y=—-4sin(0),2 w,4,[-4,4]] '

] 2n I X | ii

Ans.3 =| y=sin(3 6),T,1,[-1,1] y=2cos 7 + 3, cyan A

27 3 l

Ans.4=| y=—4cos(3 6),7, 4,[-4,4] y:—Ecos(2x), red N

_ - 2)

Ans5 = 1 2n 1[-1 IH , Ans6= (x) | =
Ans.5=|y=—— 30), — | .= =2sin — |- :

ns [J’ 23111( ), 32| 29 _y 2 sin| 3 4,blue_ )(

0 o A

Ans.6 = { y=-2 sin(gj 4,12 7,2, [-6, -2 ]} Ly Sm(x;; 3, black] o

Ans.7 =[y=—6cos(2 1 0), 1, 6,[-6, 61] [y 2eos( T, pgreen| || )

1 (n0 1[5 3 3

Ans.8=|y=—cos|—/— |- 1,6, | =, 2)

L 4 3 414 4 ]1]1] —(
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TrigonometryExercise Answers for No.10426

o
Ansz_{sm(A)—Jg cos(A)—2 (A)—«/g csc(A)_3f sc(A)_3 Ot(A)_%l {L()}
V : / 2
Ans3 = { sin(4) = la cos(4) = ﬂ, tan(A4) = — ,esc(4) = sec(A) — cot(4) = Ny }
o X A 49 £ x* Al =49 + 7

X +4 X +4

Ansd = { sin(4) = F cos(4) = F tan(4) = csc(A )= T, sec(A4) = T, cot(4) = %}
X +4 X +4

{ 3 4 3 5 5 4} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 ,

A 8——[ ———1 in(2nO)+1,1 1{5 7H
4 2122
ns. y sm( n0)+1, olee

X [Page = 0016] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKKKXXXXXKKKX KKK KKK KK LKL LR XXX XXX XKKKX

| Ans.l=[y=sin(0),2 7 1,[-1,1]] 2)
Ans.2=[y=5cos(0),2m 5,[-5,5]] N

2 _ _ .
Ans.3:[y:sin(3 9),Tn, 1,[-1,1]} [y=—cos(x)— 1, cyan] l(

1 .
Ans.4={y:—3 sin(4 0), %,3, [-3,3]} [yzﬁcos(zx)’ black —)(
3 '_
Ans5 = Ans.5={y=—3 cos(%j, 107, 3,[-3,3]} . Ans6 = [yZESm(z”)_z’ bl“e] l(
S .
Ans.6={y=écos(3 6)4_3’27 é [% %H [y=—5cos(2x)—3,red} )
c ez 2] || 5
Ans.7:{y=—6c0s( : j 10, 6, [-6, 6]} [T p e l(
:)
o
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X

TrigonometryExercise Answers for No.10628

Ansl =| sin(A4) = Ao ,cos(A4) = 2 tan(A) = 35 csc(A4) = 8455 ,sec(4) = 8 cot(A) = & 5555 }, , { J(j
Ans2 = s1n(A) = 2 cos(A) = ! ,tan(A4) = 2V 77 ,csc(A4) = 2 sec(A) = IV T ,cot(4d) = 7 }, , { ﬁ
77 77 2 J(
I 3 3 9+ x° A9+ x2 |
Ans3 =| sin(A4) = ﬁ cos(4)=—"F—— tan(A) =—,csc(4)= ,sec(A)=—"",cot(4) =
L 9 A9 X

6 6
Ans4 =| sin(4)=—F—=,co8(4d) =—F———=, tan(4) =—, csc(4) =
{ /36 +x° q/36+x x

Ans. ] =[y=sin(0), 27, 1,[-1,1]] |
Ans.2 = [y=—4cos(0),2 7, 4, [-4, 4]]

Ans.3 =[y= sin(6 e),g, 1,[-1, 1]}

T
Ans.4={y: -5 cos(60), g, 5,[-5, 5]}

ol |

0
Ans.6:{y:—2 cos(g)—i— 5,6m,2,[3, 7]}

1 1
Ans.5=|y=—"cos(40), -, ~,

5 e Ans6 =

A = ,
nsd 66

X
{y =-2 sin(Tj -2, black}

Fﬁ

,sec(4) =

1

[y =—cos(x)—2, green]

edsnl3) -
y—231n 3 ,re

S

TX
{ y=3 sin(TJ, cyan}

cot(4)=— }

Ans.7=[

[Page

0017]

1
y=-—_sin

no

2

4

)7 8’

1
3’

5

-11
3’3

1
Ans.8=[y=—3 cos(6m0)— 1,5, 3,[-4, 2]}

|

X
{y =3 cos(;j, blue}

N N e e AN

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.11408
3410 V)
— |

1
3 20 20 A

Ans2 = {sm(A) = 8 ,c08(A) = tan(A) = csc(A) = 2 sec(A) —T ot(4) = 2 "

Ans3 =| sin(A4) = %, cos(A4) = %, tan(A4) = i, csc(A)=—"_",sec(4)= cot(4) =
L 25+x 25+x i
N 16—+ ! x
4 X

[ ' 2410 3 2410 7410 7
Ansl =| sin(A)=—"-"",cos(4) = tan(A) = ,csc(A4) = ,sec(A4) = cot(A) =

Ans4 =| sin(4) = cos(A)— ,tan(A4) = ,csc(A4) = ,sec(A):i, cot(4) =

i 16 — x° x 16 —x* |

Ans. 1 =[y=sin(0),2m, 1,[-1,1]] l

Ans.2=[y=4cos(0),2 7, 4, [-4, 4]] '.(

Ans.3=[y=sin(20),w, 1,[-1,1]] )

- [y=3sin(2x), cyan] o

Ans.4:{y:6sin(4 6),5, 6, [-6,6]} [y=—sin(x)+ 2, red | 2

3 o

Ans.5:[y:5 sin(ﬁj, 87,5, [-5, 5]} |:y=—2 cos(2 mx), black )

AnsS = 4 , Ans6 = [ 5 T , —(

B 1 2_7t 11-9-7 =—= cos( ) 2, blue} )

Ans.6—[ —cos(50) -2, s g {4, 4“ 3 l(

B 1 11)-11 {y 28111( j+4, green} :

Ans.7—[y 4sm(6n6) % [4,4“ i 2)

o

2

(

0
Ans.8 :[y =-5 cos(?j +5,12,5,[0, 10]}
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TrigonometryExercise Answers for No.11560
7 3 7 447 4 347 :
Ansl = {sin(A) = g, cos(4) = Z’ tan(4) = g, csc(A4) = [, sec(A4) = g, cot(4) = —[}, , {L()}

7

Bt 2] [

,csc(A):T, sec(A):g, cot(4) = 13 (

25— x°
cot(d)=—"—
X

=

Ans2 = {sin(A) = ,cos(4)= S, tan(4) =

Ans3 = { sin(4) = cos(A) = tan(A) 4/7 csc(A4) = sec(A) 4/7
RS

X 4—x
Ans4 :{sin(A) =—,co8(4d)=""",tan(4) = csc(A) —— sec(A) cot(A) =
2 2 4/

Ans.7 = y=—2cos(5n6) ,2,[-2, 2]}

1 (=m0 1{14 16
Ans.8 = y=—gsmT +5,8,§, ?,?

[v=sin(x)—3, cyan]

Ans.]z[y:cos(e),2n,1,[—1,1]] 2
Ans.2=[y=6sin(0),2 m, 6, [-6,6]] A

T - - 2)

Ans.3=|y= 60),—,1,[-1,1 -
s [y cos( )3 [ ]} {yz—%cos@nx),blue} (

. T 2)

Ans4=|y=2 60),—,2,[-2,2 -
" [y sin( )’3’ 12 ]} [yz—gsin(Zx),red} N
Anss = Ans.5:[y:—2cos(g), 107:,2,[-2,2]} . Ans6 = { ) (nx} }, 2
5 y=23sin| — |- 4, black o

{ 1 2n 1{ H 2 )
Ans.6 =| y=——"sin(30) + 2, [ 3 (x] } —
2 y=7cos| — |- 2, green N

2 3 )

2

A

2

(
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TrigonometryExercise Answers for No.11806
2410 i)
3 > b "(

3 24/ 10 3410 7 74/ 10
Ansl =| sin(A4) = cos(A) = ,tan(4)=—"_",csc(4) = 5, sec(4) = ,cot(4)=

4 3 4
Ans2 =| sin(A4) = cos(A) —g tan(4) = 3,

ans3 = sin() = L cos() = % tan) = L2 ey == (4) ==, cot(4)
ns3=|sin(4)=—""""", cos = an =————,csC =—F—, sec =—,co =
L 3 X A9 —x* X 9—x
I D ¢ A__V‘*—xztA_L I N N ot ol
ns —_sm( )—z,cos( )= 5 , tan( )—m,csc( )—x,sec( )—m,co( )= B
Ans.l=[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=2sin(0),2 m, 2,[-2,2]]
n i 1 1
Ans.3=| y=cos(40), 5, 1,[-1,1] [y:gcos@ x)—4, black}
Ans.4=[y=5sin(20),m, 5,[-5, 5]] 5 X
1 21 1{-11 V=T, 08y pyan
Ans.5=| y= —sm(39)—— — =
Ans5 = 350155 , Ans6 =

0
Ans.6=[y:—4 cos(gj + 1,12 m, 4, [-3, 5]}

1
Ans.7={y=—2 sin(6m0O), 5, 2,[-2, 2]}
11 13

n@) 1 [
+4989_9 .
4 3

373

1
Ans.8 = {y = —g cos(

X [Page = 0020]

5 5 3
csc(A)—4 sec(A) =" cot(A)—} ,[

e

N

[y——2 s1n(n3 )+4 blue} ’

[y=—sin(x) + 2, red ]

(mx
[ y=2 s1n(7j, green}

Bl

|

S NI NGB A N NS Ny Nt NS

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.12219
4 4/ 65 4/ 65 7 A
,tan(4)=—",csc(4d)="",sec(4) = ,cot(4) = Z}, , {—)}

4465 74/65
,cos(A4) =
65 65 7 4 o
7485 64/85 7 \/85 /85 o 6} {ﬁ}
b CO =_ b b
6 7

y ,cos(A4) = . ,tan(A):g, csc(A4) = - ,sec(A4) = Y

3 {,(A) 4 " 16 +x° an() 4 " x o x ) f\/—16+x2}
ns3 =| sin =", COS =——,tan =—F/——,CSC =", sec =—F7———,C0 =
x X A =16 + x* 4 A =16 + x* 4

2

Ansl = {sin(A) =

Ans2 = {sin(A) =

ot tan(d) =—— (4) == seo(A) =——=—, cot(4) 9_)“2}
- _ ,tan =" ———,CSC =", S€C =", C0 =
3 A9 —x X A9 —x X

X
Ansd = { sin(4) = ;, cos(4) =

i Ans.lz[y:Sin(e),zTC,1:['1»1]] l(
Ans.2=[y=5cos(0),2m 5,[-55]] )
Ans.3=[y=cos(20),m 1,[-1,1]] ~

tnsd=| v 6 sin(s 61, 2" [ 5 (nx 1
4=|y=-65sin(50), s ,6,[-6,6] y=—cos| | green 2

Ans.5 = |:y =-6 cos(—), 10 &, 6, [ -6, 6]} [y=-3sin(2x), black] 2)

Ans5 = 5 , Ans6=| [y=cos(x)—-2,blue] || —
BRI | v Tl

ns y 3sm( )+ 1, s3] 33 y=—sin 2, cyan l(

e — . -‘

Ans.7={y= -5 sin(%), 4,5, [-5, 5]} L[y=3sin(2mtx)+2,red]] Pl

4 8—[ _ L cos(670 211{22}} )

i ns.8 = y——scos( n0)+ 35055 || l(
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TrigonometryExercise Answers for No.12954

o

£ e B ] [

g cos(4) = ,tan(4) :;, csc(A4) = ,sec(A4) =

{ 3 4 3 5 5 4} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) =—1 ,

Ans2 = {sin(A) =

Ans3={sin(A)— cos(A)—— tan(A) =4/ —1 +x° ,csc(A4) = «/7 sec(A)=x,cot(4) = ]
-1+x A -1+

, A 16+ x° 4 A -16 +x° X
Ansd = sin(4)=—"—"—"—",cos(4d)=",tan(4d)=—""", csc(A)z— sec(A)—— cot(4) =
X x 4 A =16 +x* 4/—16 +x°

Ans. I =[y=sin(0),2m, 1,[-1, 1]] )
Ans.2 =[y=—-4cos(0),2m 4,[-4,4]] [y =cos(x) + 3, green|
Ans.3=[y=sin(20),m, 1,[-1, 1]]
Ans.4=[y=-4sin(20), m, 4,[-4,4]]

y
T -yl 3]s
AnsS = " I 3COS( » 3°3 , Ans6 = =55 4, cyan ,

0
Ans.6=[y=4cos(§j+3,6n,4,[-1,7]} =— sm[ jblack}

y
Ans.7=[y=-6sin(2 7 0),1,6,[-6,6]] [ ( j }
y=-3cos red

1 0 1135
Ans.8 = y:_ZCOST +1’4’Z’ Z’Z

X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKXKKKKXXX XK KKK KKK LKL KL LKL R XXX XXX XKKKX
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TrigonometryExercise Answers for No.12964
9,/65 «/65} {«/7}
65 b 2

,cot(4)= 1 "

I i et oA 2] [

tan(4) = ese(A) =~ see(4) = <

Ansl = {sm(A) = 4 ,cos(A4) = J?, tan(4) = 4 «6/5675 csc(A4) = 2 sec(A) =

,cos8(A4) =

8
AnSZ:{sin(A): 113 113

Ansﬁ{smu)— cos(A)——tan<A> -1+ ese(4) = Ji sec(A):x,cot(A):;z]
—1+x A/

Ansd = { (4) (4) [F-25 P — (4) ==, sec(A) =—— t(4) sz—zs}
ns4 = sm —_ COS = ,tan =" r———,CSC =", S€C =" r——,C0 =
X =25 5 A X =25 5

Ans. 1 =[y=sin(0),2 w1, [-1, 1]]
Ans.2 =[y=3cos(0),2m 3,[-3,3]]
Ans.3={y=sin(6 9),£,1,[—1, 1]} {yzésin(ij red}
3 2 2)
27 3
Ans.4=[y=6cos(3 9),7, 6, [-6,6]} {y:—gcos(Zx)—Z, blue}

Ans6 = [y=sin(x) — 1, black] ,

0 5
AI’lS.5:|:y:3COS(6ja 12TE,3,[-3,3]:| |: 5 . [foj :|
= ) ovan

| n 1/[24 26 y==,sm
Ans.6 = y=—sin(60)+5, | —, =
=5 3’50 575

Ans.7=[y=-5sin(210),1,5,[-5,5]]

1 (=6 1{-21 -19
Ans.8 = y:—ZsmT -5, IO’Z’ T’T

X [Page = 0023] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXKXKKXKKKXXXXX KKK KKK KKK LKL KL LR LXK XX XXX KKX
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TrigonometryExercise Answers for No.12971
3410 V)
— |

20 20 A

{ 4 3 4 5 5 3} [ﬁ }
Ans2 =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) = , —(
Ans3 =| sin(A4) = %, cos(4) = % tan(4) = csc(A) = sec( )= cot(4) =

L 25+x 25+x i
I X 25— x° X 5 5 «/25—x2_

Ans4d =|sin(A)=—",cos8(A)=—""-",tan(4d) ==, csc(4) =", sec(4d) =, cot(4) =
S S 25-x° X 25 -x° X ]

Ansl =[sin(A) =@ cos(4) = 2 tan(A) = 2 @, csc(A4) =ﬂ sec(A4) = ! cot(A) =

1 ) 1|-26 -24
Ans.8 = y=—gcos T —5,6,;, ?,?

Ans. 1 =[y=sin(0),2m, 1,[-1,1]] 2
Ans.2=[y=-3cos(0),2m, 3,[-3,3]] (
Ans.3:{y:sin(46),£,1,[-1,1]} [ (Tcxj } 2
2 y=-2sin — ovan o

Ans.4=[y=—5 cos(69),£, 5,[-5,5]} { 1 (x] } 2
3 y=—_cos| 7 |, blue o

1 nl[-11 2 \3 )

AnsS = Ans.5 = y—6s1n(4 0), Eg g,g , Ans6 = [yzlsm(xT)E-;l black] |, —(
Ans.6:{y:3 sin(%)+ 1,873, [-2,4]} yZECOS(T]_&red} l(
. :

Ans.7:{y =-3sin(4m0O), %, 3,[-3, 3]} _[J’ =2 COS(E) +3, greenl l(
2

(
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TrigonometryExercise Answers for No.13023

Ansl = {sin(A) = %, cos(4) = 8 111313 tan(4) = ! csc(A) = 1713 ,sec(A) =%, cot(4) = §}, , {L()}

3 4 3 5 4
Ans2 = {Sm(A)— , cos(d) =7, tan(4) =7, ese(4) =7, see(d) =7 cot(A)_ﬂ, [ }

_ 3 A =9+ x* 3 x A =9+ x*
Ans3 =|sin(4A)=",cos8(A)=—" ,tan(4d) ==, csc(4d)=T,sec(d)=—F——,cot(4d ) ==
X X A -9+ x° 3 AN -9+x° 3

Ans4—{sin(A)—x cos(A)=4/1 —x tan(A4) I csc(A4) L sec(A)—; cot(A)—l—
) ) «/72’ P m,

1-—x

= |
=
(38}
|

I

[ Ans.I=[y=cos(0),2m,1,[-1,1]]
Ans.2=[y=-2sin(0),2 m, 2,[-2,2]]
Ans.3:[y=sin(46),£,1,[-1,1]} T 3 (nx |
2 y=Tsin| —— |- 4, green
i 2 2
Ans.4={y:—4sin(69),g,4 44]} [y=sin(x)—1, cyan]

1 TX
0 _ - I
Anss = Ans.5=[y:—2 COS(4) 8, 2,[-2, 2]} . Ans6 = [J’ 2005( 3 ), black} ,

1 X
Ans. 6 = [ =lcos(49)— K2 1[11 9H |:y=—5005(5j—3,blue}

2721272

v
e
Ans.7 = [y——.%cos( j10,3,[-3,3]} | rEEeesy pred]

21(-5-3
Ans.8 = y——zcos(3n9) 255 E;
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TrigonometryExercise Answers for No.13033

{ 4 3 4 5 5 3} [
Ansl =| sin(4) = cos(A) =" tan(A) = csc(A) = sec(A) = cot(A) il Y

I 54/29 21/29 5 329 329 2 ]
Ans2 =| sin(4) = ,cos8(A4) = ,tan(4)=",csc(4) = ,sec(A):—,cot(A):—l ,{ﬂ
L 29 29 2 5 2 5 Na
] q/9—x2 X f\/9—x2 3 3 X
Ans3 =| sin(A4) = T, cos(4) = ;, tan(4)=—"",¢csc(4) = ﬁ, sec(A)=",cot(A4) =T
I X 9_x X 9-x"
anst = sin) =2 cos() = T tan(a) =2 esel) =, s = cot( ) =
ns4d =| sin(A4)=—",cos(4d)=—"""",tan(4) =—F—, cs¢C —, sec ———,C0 =
L X X f\/xz—4 Axt—4 2]
[ Ansi=[y=cos(0),2m 1,[-1,1]] ] i ]
Ans.2=[y=4sin(0),2 m, 4, [-4,4]]
T
Ans.3 :[y:sin(4 0), 5, 1, [-1,1]
[ i [y=-2sin(2 nx)+4, red]
Ans.4=|y=06sin(40), _, 6,[-6,6]} 5
2 y==cos(2x)+ 3, green
1 111 2
Anss = Ans.5 = y——5 cos(20), m, 15 , Ans6=| [y=2cos(2Tx),cyan]

0
Ans.é:[yz 5 cos(g) +2,12 7,5, [-3, 7]}

1
Ans.7=[y=—5 sin(4 w 6),5, 5,[-5, 5]}

1 (=6 1
sin| — |+3,12,—,
4 6 4

Ans.8 = [y =—

X [Page = 0026]

|
4> 4 |]]

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢

3
{y = —5 sin(2 x), black}

[y =—cos(x) + 2, blue]

N AN R e e AN
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TrigonometryExercise Answers for No.13197

Ansl = {sin(A) = %, cos(4) = @, tan(4) =

I 54/41 44/41 5 41 41 4 ) |
Ans2 =| sin(4) = ,cos8(A4) = ,tan(4) =", csc(4) = ,sec(A4) = ,cot(4) = —}, , {ﬂ
L 1 41 4 4 5 J(
] 9% X —x 3 3 X
Ans3 =|sin(A)=—""—"—",cos(4d)=",tan(4d) =", ¢csc(4d) =, sec(4d) =", cot(4) =—F7——
L 3 3 * X 9—x* |

X

347
7

N
=T
=
(38}

Ans4 = { sin(A4) = ,cos(A4) = 7, tan(A4) =

Ans. 1 =[y=cos(0),2m, 1,[-1,1]]
Ans.2=[y=-6sin(0),2 m, 6, [-6, 6]]

Y
Ans.3 =[y= cos(46), - 1.[-1,1]

] 27
Ans.4:[y:3 sin( 5 6),7, 3,[-3, 3]}

2 1{-1 1“
cos(30),—/— | <

Ans3 = 3721272

1
Ans.5:{y=5

0
Ans.6:[y=—5 cos(;j +4,4m, 5, [-1, 9]}

1 (=06 1{-11
Ans.7 = y:—EsmT ,8,5, 3,5

X [Page =

1
Ans.8=[y=—4 sin(6 9)+3,g, 4,1-1, 7]}

4
,csc(A4) = 5, sec(4) =

2

N

447
[, cot(A)=""
7 3

7

i 1
[y = —5 sin(2 x), black}

]
y= 2cos 3 , green

Ans6 = [y=sin(x)+ 1, blue] |,

[ mx
y=-2sin 7 -3, red}

el o
I y—zcos 5 , cyan |

(V10N 1D:9:9.9:9:9:9.:9.:9.:9:0.0.0.9.9.9.9.0.0.0.0.0.0.0.0.0:0.9:0.0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0:0.:0.9.:0.:0.:0.:0.0.:0:0.0.0.9.9.9.9.0.0.9.0.0.9.9.0.0.0.0.9.0.

o (&

o«

N N N

.( ]

4/9—x2,
22 ese(4) (4) =L cot(A) = ——= }
- ,CSC =", S€eC =",CO =T
X Al 49 — X X 49 — x*

XX XXX XXXXXXXXKXXX
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TrigonometryExercise Answers for No.13907

4 3 4 S 5 3
Ansl = {sm(A) =—,cos8(4)= tan(A) = csc(A) = 4, sec(4) = cot(A) = —} , [

o
4 3 44/33 7 7433 4/ 33 :
AnsZ—{sm(A)— ,co8(A4) = ,tan(A4) = ,csc(Ad)=",sec(4)= ,cot(4d) = }, ,{ﬁ}
33 4 33 4 N
—x 7 49 — x*
Ans3 = sm(A)— ,cos(A4) = ,tan(A4) = ,csc(A)=",sec(4) = ,cot(4)=
i 49—)c2 x 49—)62 i
, A X =36 6 A/ Xt =36 x x
Ansd = sin(A)=—"—"—"—,cos(4A)=",tan(4d)=—"",¢csc(4d) =", sec(4) =", cot(4) =
i X x 6 A X =36 6 X - 36 |
C )
Ans. 1 =[y=sin(0),2w, 1,[-1,1]] _(
Ans.2 =[y=—-6co0s(0),2 7, 6,[-6,6]] ')
Ans.3=[y=cos(20), 7 1,[-1,1]] i 1 TX 11 =
2 yIECOST,I’ed A
Ans.4=[y=—3 cos(56),T,3,[-3,3]} s 2)
X A
1 x10-11 [y:—cos(—j+2, cyan} N
S TN Y e ;
Ans5 = 3 2’3133 , Ans6 = 3 (mnx | =
0 y:—g sin 7 — 3, blue N
Ans.6 = y=-2sin| |+ 1,6m 2,[-1,3] 2)
3 [y =—cos(x) — 3, green] -
7=l 53] e .
ns./=\y= 3SIH > P 3l303 yzzsln(2x),black | l(
1 :
Ans.8={y=—55in(6n6)+1,—,5,[-4,6]} 2)
L 3 | —(
[Page = 0028] KKK XXX XX XXX XXX X XXX XK XX KK XK KKK KKK K KKK KKK KKK KKK KKK KKK KKK K KKK KKK KKK KKKKK
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TrigonometryExercise Answers for No.13991

Ans2 = {sin(A) =

_ 4 3 4 5 5 3 o
Ansl =| sin(4) = g, cos(4) = g, tan(4) = g, csc(A4) = Z’ sec(4) = g, cot(A) =Z , —(

7453 2453 53 53
,cos8(A4) =

2
b A :—9 tA :_5
53 53 7 seld) =" cot(4) 7}

7
,tan(4) = 5, csc(A4) =

|

| I |

NS}

X

2
. _ X 4 4 16— x
Ans3 =| sin(A4)="—",cos(4) = ,tan(4) =—f7———=,csc(4)=",sec(d)=—F——,cot(4d)=—""""—
I 4 A 16— X7 x A 16— %
] 5 f\/xz— 5 X X q/x2—25
Ans4 =| sin(4d)=—",cos(4d)=—"",tan(d)=—7———, csc(4d) =—,sec(d)=—F——, cot(4d)=—
I X x A X =25 5 A X’ =25 5]
_ )]
Ans.1=[y=cos(0),2m 1,[-1,1]] "
Ans.2=[y=—-6sin(0),2 r, 6,[-6, 6]] ')
Ans.3=[y=sin(20), 7w 1,[-1,1]] i 1 TX 11 =
- y:—E cos 7 , cyan N
Ans.4={y=2cos(46),—,2,[-2,2] )
2 3 (x -
0 y=—_sin| |, red A
Ans.5 :[y —4 cos(—j, 61, 4[4, 4]} 2 \2 )
AnsS5 = 3 , Ans6 = [ 1 (ﬂj 3 0 k} , —(
o1 2m 1197 Y= sy e '-
Ans.6 = y=—"sin(30) - 2, . , :)
4 37414 4 [y =cos(x)+ 3, blue] -
, 7{ 1.4911{11“ ! i
ns./=\y= 6sm( T )’2’6’ 6’6 _y=—2cos(2x)—2,green | :)
(mO :(
Ans.8 =| y=-3 sin T -5,10,3,[-8,-2] 2
L _ A
BEIECIROPINID 6'010:0:0:0:0:6.0:0.0:0.0:0.0.0.0.0:0.0.0.0.0.0.0.0.0.0.0:0.00.0.0.0.0.0.0.0.0.:0.0.:0.0.0.0:0.0.0.0.0.0.0:0.0.0:0.:0.:0.0.0.:0.0.0.:0.0.0.0:0.0.0.0:0.0.0:0.0.0:0.0.0.0.0.0.0.0:0:0.0:0:0:0.0'0:0.0:0:0¢
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TrigonometryExercise Answers for No.14005

[Page

X

0030]

Ansl =| sin(A4) = %, cos(4) = g, tan(4) = %, csc(A4) = %, sec(A4) = %, cot(4) = > «3/9379 }, , { J(j
Ans2 =| sin(4) = E, cos(A4) :S, tan(4) = E, csc(A4) = ! f, sec(A4) :%, cot(4) = ¢ E}, , { C
Ans3 =| sin(A4) = ;, cos(4) = L, tan(4) = 2, csc(A4) = sec(A) = cot(4) =

L 9+ x° 9 +x° X ]

A X -36
X

6
Ansd = { sin(4)="—",cos(4) =
X

Ans. 1 =[y=sin(0),2m, 1,[-1,1]]
Ans.2=[y=3cos(0),2m 3,[-3,3]]

o
Ans.3={y: sin(4 0), ;’ 1,[-1,1]
Ans. 4 =

0
Ans.5 = {y =6 cos(;), 6,06, [-6, 6]}

1 2w 1 |-25-23
Ans.6 = y——6cos(56) 4’?5 ??

1 1 1]-11
cos(6mO), -, [— —H
4 340474

0
Ans.8:[y:—6 cos(7j+2, 4,6,[-4, 8]}

[y=-3cos(20),m3,[-3,3]]

AnsS =

Ans.7:[y:

I

, Ans6 =

~ N ;
[y =-3 cos(;), blue}

[y=-sin(x), cyan]
{ 3 (nmx
y—2 sin —2 , green

[y =2 sin(?j -3, red}

L[y=2cos(2 mx)—4, black]

6 X
,tan(A):ﬁ csc(4)=—" sec(A) ﬁ, cot(4) =

N

6

I

N N e N AN

),0:9:0.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:9.0:9:0.0:9:9.0:9:9.0:9:9.0:9.:9.0:0:9.0:0:9.0:0:0.0:9:9.0:9:9.0:9:9.0:0:9.0:0:9.0,0:9.0:0:9.0:0:0.0:9:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0:9.0:0.:9.0:0:¢
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TrigonometryExercise Answers for No.14157
6461 Je1 6 o
61 ,cot(A)=g , S| T

,tan(A4) = 2 csc(A) = ,sec(A4) = (

: W’ tan(4) = ﬂ, cse(4) =, sec(A) :ﬂ, cot(4) :ﬂl : {ﬂ}
7 20 3 20 3 o(

4/ [ 2

Ans3 =| sin(4) = T2 cos() =2 tan(A) =, sl ) = sl = cot(d) = —xf_ ~

- : : A/

Ansd = sm(A) /725 i cos(4) = m tan(A4) = csc(A) = %, sec(A4) = 25% ot(A4) = |

Ans. ] =[y=sin(0),2m, 1,[-1,1]] ]
Ans.2=[y=-5co0s(0),2m,5,[-5,5]]

Ansl = {sin(A) = > ,cos(A4) =

Ans2 = [ sin(4) = 2 cos(A) =

T
Ans.3:[y:sin(6 6),—, L [-1,1] - -
5 T X
y=_cos| — |—3,red
2 2

)

(

2

(

m )

Ans.4 = [y 5cos(60),,5 [-5,5]} -
3 5 :(
{y=2005(2x)+3,green} Pl
(

2

(

)

(

)

1 2n 1 |-11
Ans5=| Ans.5= y=gsm(3 0), Tg, = , Ans6 =

6 6 [v=-sin(x)+2, cyan]

0 = 2 cos(2
AnS-6=[y=5 sin(g)+ 1,12 w5, [-4,6]} Ly cos(2 m x), black]

1 11(-11 L
Ans.7 = y:—gcos(67c9),g,g, ?E

X
y=-2 sin(;j, blue}

70 ;
Ans.8=[y=—2 cos(Tj—S, 8,2,[-7, -3]} (
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